Quick Check

N
ame 15-8

I. What is the total length of the path?
@ about 2 centimeters

about 4 centimeters

4cm

© about 6 centimeters

® about 8 centimeters A
2cm

2. Peter measures a path that has a total length of 12
centimeters. Janna measures a path that has two parts.
Each part measures 7 centimeters.

How much longer is Janna’s path than Peter’s path?

@ 14 centimeters © 7 centimeters
10 centimeters O 2 centimeters
3. Use a centimeter ruler. Path A Path B

Measure each path at the right.

Path A cm
Path B cm —
Which path is longer? Circle. Path A Path B

How much longer is the longer path? centimeters
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